30

30

31

30
31
30
30
31

56
62
62

13

27 | 14

28 | 33

8

17 ) 33

18
32

28

33
37

36
28

28
12

35
34

43

33

¥4 5852 54 ){ 59 ){ 40

Permission is granted to copy, distribute and/or modify this document under the terms of
the GNU Free Documentation License, Version 1.1 or any later version published by the
Free Software Foundation; with the Front-Cover Texts being "Open PINO Platform™. A
copy of the license is included in the section entitled ""GNU Free Documentation License".

618.3

1 head_plate_(1)

2 circuit borad

3 PZ-0032

4 JISB 1176 - M3 x 6
5 1SO 4762 - M3x6

6 ISO 4762 - M2x8

7 PZ-0015

8 PZ-0018

9

bearing F-6-12 PART1
10 POLE PART1

11 HOON 2 PART1

12 FUTABA S9450 PART2
13 PZ-0026

14 PZ-0025

15 PZ-0019

16 PZ-0020

17 PZ-0021

18 PZ-0022

19 I1ISO 7045 M4 x5 -4.8-2
20 1SO 4762 - M2.5x5

21 ISO 4762 - M2x5

22 I1SO 7046-1-M3x6-4.8-2
23 1SO 4762 - M3x5

24 ISO 7089 -3 -140 HV
25 1SO 4762 - M2x6

26 1SO 4032 - M2

27 NECK_HOLDER PART1
28 S9402 ANGLE_1 PART1
29 BEARING FLBC6-12 PART1
30 FUTABA _S9450 PART1
31 FUTABA_S5301 PART1
32 PZ-0027

33 PZ-0010

34 PZ-0030

35 PZ-0031

36 PZ-0027

37 PZ-0028

38 1SO 7046-1-M3x5-4.8-2
39 JISB 1176 - M2.5 x 5

40 PZ-0004

41 PZ-0013

42 PZ-0014

43 PZ-0012

44 1s5301 plate (2)

45 JISB 1176 - M2 x 4

46 JIS B 1256 - 3.2

47 JISB 1111 - AM4x8-H
48 JISB 1111 -AM2x6-H
49 JISB 1111 - AM3x5-H
50 JISB 1176 - M3 x5

51 PZ-0017

52 PZ-0003

53 PZ-0005

54 PZ-0002

55 futaba s5301 no bottom (2)
56 FUTABA S5301

57 PZ-0006

58 S5301 PLATE3 PART1
59 PZ-0008

60 PZ-0011

61 PZ-0016

62 FUTABA_S5301

63 PZ-0007

64 PZ-0001

circuit plaet

S9402_holder_(1)
5301 anale (2)

hip,arm

waist,chest

head_plate head
neck plate neck
sholder holder (R-F) bust
sholder_holder_(R-B) bust
sholder holder (L-F) bust
sholder_holder_(L-B) bust
5301 anale (3) shoulder
s5301_holder_(1) hip,chest
S9402_holder_(2) arm
S9402 ANGLE(2) arm
arm_holder(1) arm
arm_holder_(2) arm

$5301 cross (2)

ankle,coxarthro

LFZW-20 hip-joint
hip_plate_(1) hip-joint
s5301 holder (2-L1) hip

¥

¥

¥
hip_holder_(Left) hip

5301 cross (1)

ankle,coxarthro

s5301 plate(4) ankle
foot_(Left) Refl-sole
S5301_PLATE(1) calf

5301 anale (1) knee-calf
s5301_holder_(2-R) hip

hip holder (Right) hip

S5301 plate(2) cafl-joint
foot (Right) Right-sole

3 (c)Kitano Symbiotic
—@JE]--S%;% . Systems Project, JST

H.igarashi [2001/12/16 PINO_assemny

F.Yamasaki

PZ-9001

171

A3

1 | 2 | 3

§



